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PRECALCULUS

Key

Name:

Date

4.1 - 4.3 REVIEW
Period:

For each of the following, try to solve the problem without using the Unit Circle then you can use the Unit

Circle to check your answers.

1. Evaluate the exactvalues of the six trigonometric functions of the real number & (in simplest radical

form).
a. 0= —7—3- .

sint=Y csct=-§,

lost= X seet =%

nmt.’-; eott =
sinf _y  cscd _-}' =

coséd O secé’gé = Olndf‘{

pont : (0)1)

tanﬂb cotd _ 2= p

e
2. Givelgﬁldat secl = —% , use

b. sz

4

-..J— JZ
Point! (2,=%
vz 2 e 202

Sinﬁ_{ cschd g2 Tﬁf_' = "z
cosé‘- sect _‘J’E.
tan6 =] cotd =]

trigonometric identities to find the indicated trigonometric functions:

(NOTE: Use trig identities (not a triangle) but you can check your answers with a triangle.)
b. sinf =

a. cosf =
-3
A =
seco S
4.
oo 308 o 5
-3
. Cose =
% 3= [4

3. Sketch each angle in standard position. Then evaluate the exactvalues for the trigonometric fugctlons

d. cscf =

tu

Sine

Sin29 + Cos ? & =)
aSn*e+ (- ;’)g"l

Sin2et ﬁg- =1
= l&
Sin®*6 * o5

sine=[4
5 .
G 5n 8=y c:zwé
oS®-=X Sec= :(
TEang =Y ot x
Y

given for that angle, if possible. Answers should be in simplest radical form.

a) -135° by 2400 1% 0 " a 37
[ " (Oy1)
o o )
|‘EO 70 ' 7- O ﬂ&l_;_.o T O
J——Q % ' $a
\ 2,2 ('3 )t‘)
(.‘ﬁ' Y sin 6"@/ 4 -‘jL cscO =293 i. secd E 4 csc@_l___l
Y [
cos&"p/z X g coteg_ nf';t‘\" y sm&‘i v cos6 _O
- ¢ -2 o _
tan6 | o cos(}_iﬁ-_ 5 tanfd R ,?_; coté T = (o)
~2,3 . 25
¢5c0° 5 =3 @ %”
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x= “H'E

PRECALCULUS

4. Find the pomt (x v) on the unit circle that corresponds to the real number #

11m

a t=—" --“)
21m

ct=-=% (0,1)
14m

co=te (-4 ,93)

5. Find ¢ in the interval 0° <7 <360° if the point is:

a(-59) ¢= C:»‘.D‘- 135°

6. Find two values of & in the interval 0° <& <360°, then in 0 <0 <27 where:

0= 135° ,225°
B 3% sy

- -2
2 ¥ whefe is X=-

¥ Look at ynit Cf@_f}

=5
3
4.1 - 4.3 REVIEW
5m "'J-i
N
po_im (-2 J__:Z.)
4 "5. ) -

t*- ‘31327‘:--?70'
sin @=Y esc

v
eeso= X MO?S%
b. csch = = 0= 6o° o“%‘
’ V3
R w8 ooy

ywnereisy =3 7

7. Use the Unit Circle to find all values of & m‘tgeﬂntewal 0°<@<360°, thenin 0<06 <27 re tan
is:  a. undefinedf@r) @ = -:é b. equal to -1 tan @ = ad,, {
‘ lﬂff% 5 o= q0° 270 (-9 Ol Whereis 0= 135° 315° !
0=, 3 crf 417 o= oo
8. Use the diagram to flnd ?To the nearest tenth of a degree, in the interval 0° <& <360°, or a missing
side to the nearest hundredth.
0= 1ooo +an H3°= _X__
hy? RS5TO off 1000
2500 -1 m X ¢ =
tos™' ( F50 |\ lo@wTan H3
a. 1000 b. 1000 X: 432‘ 52
ADT Q= (6. 4° ADJ

9. The sun is at an angle of elevation of 58°. It is shining on a building which casts a shadow that is

125 meters long. How tall is the building?

‘--O’
X

(58>

125 m
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Tan 58° =

X
[

12S

125 tans8° =X
X = 200,04 meters Tall



